[bookmark: _fsygxyqmev7h]On Point 3 - Unit 3          	
Name _________________

[bookmark: _byuiwqaf666f]I. Vocabulary: Choose the word that best completes the sentence.

1. The ___________ result of not attending class and not studying will be an F in the course.
a. conventional
b. eventual  
c. energetic
d. incapable

2. The school board has ___________ a new plan to increase the hours of physical education each week. The plan begins next semester.
a. energized
b. instituted 
c. motivated
d. convened

3. Charles ____________ taking the last piece of pizza by pointing out that he is larger than everyone else and therefore needs more food.
a. instituted
b. adapted
c. implied
d. justified 

4. Yesterday, the city government ____________ an increase in fines for those caught parking illegally. The new rule becomes effective next month.
a. legislated 
b. energized
c. motivated
d. implied

5. The _____________ at this company is to start the workday at 8 and finish at 5. That way, we can avoid the heavy traffic.
a. justification
b. institution
c. convention 
d. legislation




II. Critical Thinking: Read the arguments and identify whether they are inductive or deductive.

6. If people are unsatisfied with their shoes, they usually buy new ones.
John is unhappy with his shoes.
He will probably buy new shoes.

a. inductive  
b. deductive


7. If a doctor is knowledgeable and considerate, patients will respect that doctor.
Dr. Dennison is both knowledgeable and considerate.
Therefore, patients respect Dr. Dennison.

a. inductive 
b. deductive 
	

8. Studies show that when people enjoy their work, they tend to be more productive.
When Microsoft switched to a 9 to 5 schedule, their productivity increased.
Microsoft employees probably enjoyed working 9 to 5.

a. inductive  
b. deductive


9. One company successfully adopted flexible work hours for its employees.
All other companies should implement this system, too.

a. inductive  
b. deductive


10. In order to earn high grades, most students need to study hard and lead a healthy lifestyle.
Lisa studies hard, but she doesn’t exercise, eat well, or sleep enough.
Lisa probably does not earn high grades.
a. inductive   	
b. deductive
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[bookmark: _klwsy3sh9kje]III. Word Study : Choose the SYNONYM ( = ) or ANTONYM ( ↔ ) for each word.

11. Which of the following is a synonym for corporation?
a. consequence
b. condition
c. convention
d. company 

12. Which of the following is an antonym for phenomenal?
a. amazing
b. ordinary 
c. eventual
d. immediate

13. Which of the following is a synonym for adapt?
a. change 
b. resist
c. understand
d. confuse

14. Which of the following is an antonym for potentially?
a. eventually
b. never
c. impossibly 
d. possibly

15. Which of the following is a synonym for precedence?
a. sphere
b. condition
c. priority 
d. company


IV. Fill in the blanks with correct word.

	 implication    domain    insightful    unmotivated   incapable 



16. The most difficult task teachers face is getting ___________ students to care and to study hard.
17. Now, she is __________ of running a marathon, but she is determined to do one next year. 
18. Room 205 is the _____________ of the faculty. Students are not allowed there.  
19. When Mr. Jones asked Kevin to summarize the story, the ___________ was that he didn’t think Kevin had actually read the story.
20. Students who wrote ___________, well-organized essays all received an A on the assignment.


V. Cloze Test 

Questions 21~25 

Henry Ford was the first to _____(21)_____ a forty-hour, five-day work week. He did this so that his employees would have more time to shop and specifically, to buy his car. The forty-hour week work is now _____(22)_____ into labor laws. But not everyone is able to be up and functioning at their best by 9 AM. So, some companies offer flextime to their workers. That means, they work according to their energy levels and their work projects. This arrangement of schedules has proved successful for some companies. Other companies, like Google, are doing things differently. Google tries to hold onto its employees by offering _____(23)_____ benefits like free food, clothing, and haircuts. However, there are _____(24)_____ to Google’s hiring practices. The workers are often over-qualified and there is little chance for promotion. Companies need to be able to _____(25)_____ in order to stay successful in modern business.

	21.
	a. justify
b. institute  
c. motivate
d. imply

	24.
	a. conventions
b. implications  
c. legislation
d. corporations

	22
	a. adapted
b. incapable
c. legislated  
d. justified

	25
	a. energize
b. domain
c. motivate
d. adapt 

	23.
	a. phenomenal  
b. justifiable
c. insightful
d. energetic
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